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Algebra 2

Unit 8 Day 3
Introduction to Radian Measure

	An angle 
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 is in _______________  _____________ on the xy–plane when its vertex is on the ___________ and the ______________ side is on the positive x–axis.  

The __________________ side will fall into one of the four ___________________.
	

	An angle 
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 is in:
Quadrant I if ______ < 
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 < ______
Quadrant II if ______ < 
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 < ______
Quadrant III if ______ < 
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 < ______
Quadrant IV if ______ < 
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 < ______
An angle whose terminal side falls on an axis is called a ______________________ angle.

The _____________________ angles are _______, _______, _______, _______, …


Practice:  In which quadrant or on which axis does the terminal side of each angle lie?  Draw a sketch.

	1)  140°



	2)  210°


	3)  300°


	4)  450°



	Negative angles go in a _________________ direction.
	5)  –200°
	6)  –120°
	7)  –180°




Radian Measure
Given circle with center O and radius r, draw a central angle such that the arc length is equal to the radius.  (Hint:  Use string and a protractor.)
	


	The measure of the angle is defined as ______  ___________.
One radian is approximate ________________ degrees.  

Since the formula for the circumference of a circle is ________, there are ________ radians in one complete revolution of a circle.

	
	

	We know there are ________ in a circle, so _______ = _______ radians, or more simply, 

_______ = _______ radians.

	1 radian = 
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( _________°
	( We use this conversion when we go from ______________ to _________________.

	1° = 
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 radians
	( We use this conversion when we go from ______________ to _________________.


Practice:  Convert each to radian measure.

	1)  90°


	2)  270°


	3)  60°


	4)  120°


	5)  200°




Practice:  Convert each to degree measure.

	1)  
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( Record the radian measure on each of the _____________________ angles.  

	An angle 
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 is in:

Quadrant I if ______ < 
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 < ______
Quadrant II if ______ < 
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 < ______

Quadrant III if ______ < 
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 < ______

Quadrant IV if ______ < 
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 < ______


	


Practice:  In which quadrant or on which axis does the terminal side of each angle lie?  Convert to degrees.
	1)  
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Practice & Review
	1.  Convert the angle from degrees to radians, leaving your answer as a fraction.  

	a)  310°


	b)  150°


	c)  30°



	d)  420°


	e)  240°


	f)  350°



	2.  Convert from radians to degrees.    

	a)  
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	3.  In which quadrant or on which axis does the terminal side of each angle lie?  Convert to degrees.

	a)  
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	4.  Solve for all solutions of x.  All answers must include the exact form.

	a)  
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	5.  Draw a picture and solve the word problem using trigonometric ratios.



	a) A mouse sees an eagle atop a telephone pole with an angle of inclination of 52°.  If the mouse is 60 feet from the base of the pole, how high off the ground is the eagle?



	b) A 20–foot ladder is leaning against a wall.  The base of the ladder is 3 feet from the wall.  What angle does the ladder make with the ground?



	c) A plane lands with an angle of depression of 6°.  If the plane is at an altitude of 24,000 feet, how far is the plane from the airport?  (1mile = 5280 feet)



	d) Little Jimmy stands with a taut string and his kite stuck in a tree.  He sees the kite with an angle of elevation of 71°.  If the string is 50 feet long, how high above Jimmy’s head is his kite?




Name: __________________________


Date: ______________ Period: ______
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